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*122+XHA60,0003 +221 %12
Otti2sgRg=3
33,697,000& «0.008+33,230,000& *0.008 536
OMESAIXI Ot 2tel 29,817
oJles 1,306, 150& x 101 %12& 15,674
odoli= 1,306, 150 %400% 5,225
OgE=IHI 1,306, 150& 121 x12] 1,307
O Az Al 100,000 x121x12& 1,200
Oxe+g 140,000 x121%12& 1,680
O&d+g 110,000 x 121 %122 1,320
Oola+g 60,0003 11 %128 720
Oox8=+8g 100,000 x121x12& 1,200
OS2 &l 83,5532 15 1,254




S 5ot
M A SHAHI(50
Chel: ol 2oy el
SA - EH .o CHEAY - BaS N 2
| | OMTHE S 29,580,000 *121%0. 0080 237
Jl=2ZH 101,002 97,010 3,992
JI2AHI(512r2 D) 101,002 97,010 3,992
201 LBt A H 53,062 51,150 1,912
01 At 22l 53,062 51,150 1,912
OFEIE =] 29,310,000 * 14! 29,310
CERE:] 10,752,0002 * 14! 10,752
ouxtz 13,000,000 * 14! 13,000
202 OfHl 39,600 38,300 1,300
01 2L 0i bl 39,600 38,300 1,300
OYREN J|= 39,600,000 * 14! 39,600
203 R =Y 8,340 7,560 780
01 )| 22y 2= 3,300 3,300 0
OJBA2I AR EXY| 3,300,0002 * 14! 3,300
M RNSEYRETL| 5,040 4,260 780
SNSYARENY| 420,000 * 122 5,040
THP &S (501212t 33,579 32,855 724
FED RS 33,579 32,855 724
LHEHeHKI= 33,579 32,855 724
701 JIELBI HERES 33,579 32,855 724
01 JIEt8I HAES2 33,579 32,855 724
OFUNHALELS|H HNES(2 SAHEAM F
=0H) 335,790,000 * 10% 33,579




